()

A L AT O E

SR 441 H 24 B BAT

AR #H K4 %01 [ 1 5

B RAETE L b B3R 3,500,000

AAT =T () 3,530,000
() BRIV —> 34 3,550,000
(K)o 3,450,000 % L
=7 m () 3,580,000
LI 4RHE

T + Za IR T8

BRSO 4 FR| ERT T KBS R

T %= 5 P IEETEINE N




755 ShkAC (5 4 ZRBIFR)

S DR G
SF44E1H 25 H
K HE A B A4ELA25H
Kk F A RS HETRER
R ZEE O(ERT| BRI/ N TERT -1
T #= 4 W EE R L
R O A BR BT R KE AR
T # 5 il EATE A
T == LA OTHE
BT V=52m3

T = o 4 =

HF SM3FE1H26H
ST 443 11A

43, 795, 000

) BIHBEBKL ORI HERLOR 4345, 000H




